Max Marks : 150

ALL INDIA TRADE TEST - 2024 FOR CRAFSTMEN
TRAINING SCHEME (CTYS)
Trade Name: Electronic Mechanic
Year: 2nd Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

St. : . Negative
No. QID Question Body and Alternatives . \\ Marks Marks
Trade Theory R N
1 What is the size of thinnet type coaxial cable used in network installations? 2.0 0.00

Segd UfAsH H ST fpT 9 aTel e TR &t GH1eiT e B SR T 82

,Al 0.15 inch

0.15 inch

52 0.25 inch

0.25 inch
A3 035 inch

0.35 inch

.A4 0.45 inch

0.45 inch
4 Trag_e Theory
2 What is the data transmission speed of USB 3.0 for interfacing computers? 2.0 0.00

HTIER Pl TP B B 11T USB 3.0 BT ST SR Iifel o1 82

{M 225 Mbps
225 Mbps
4A2 625 Mbps
625 Mbps
‘A3 725 Mbps
725 Mbps
A% g SMibps
825 Mbps
y Trade Theory
3 What is the full form of DVI? 20 0.00
DVI &1 0 &7 1 82

.Al Digital Video Interface
Digital Video Interface

.A2 Digital Visual Interface
Digital Visual Interface

{U Digital Versatile Interface

Digital Versatile Interface

{%4 Digital Vector Interface

Digital Vector Interface

Trade Theory




What is the audible frequency range in communication?

TR & yo/3ifeaa snafy I = g2

,Al 20 Hz to 20 KHz

20 Hz to 20 KHz

4A2 30 KHz to 400 KHz

30 KHz to 400 KHz

{%3 452 KHz to 455 KHz

452 KHz to 455 KHz
‘A4 550 KHz to 1600 KHz
550 KHz to 1600 KHz
Trade Theory

What is the data transmission speed of category 4 twisted pair Network cables?

9ot 4 fgReS YR e Fad! P Sel CHAHRA TR 1 3?2

él 14 Mbps

14 Mbps

.AZ 15 Mbps

15 Mbps

A?’ 16 Mbps

16 Mbps

{%4 17 Mbps

17 Mbps
Trade Theory \

What is the purpose of screen wire used in audio cables?

S Haa H ITTNT fHT S aTel Th1- IR BT 2 1 27

él To increase the quality

TUrEr 1 SgH o forg

‘AZ To reject unwanted signal

Sfaifesd Riret &1 sRAdR A U
:A3 To increase the flexibility
AT SgH & forg

.A4 To provide mechanical'strength

Trade Theory

What is theiserof F-connector?

FA{aaeR &1 ST 1 22

{%1 Telephone circuits

el widhe

.A2 Power supply circuits

fagga smyfd wfde

,A3 Cable TV circuits

Fad ddl e

4A4 Audio circuits only

Faq sifsar afdbe

Trade Theory

Which part of the signal cable is crimped to the outer conductor of F-connector?

4T S BT B T U F-Fidex & a8 Heder & o crimped I 32

2.0

2.0

2.0

2.0

2.0

0.00




{M Central conductor

Al

2 Outer insulation

CIGIESI SR

‘A3 Inner insulation

TR SR
{%4 Shield of the cable

FHad Bt s

Trade Theory

Which speed of maximum data signal is carried by the CAT-6 twisted pair network cable?

CAT-6 T2 TR Aeadh had gRT 3ifieay SeT Rvd 3 1 ot i et 32

A

! 250 MHz

250 MHz

A2 550 MHz

550 MHz
A3 650 MH2
650 MHz

A

4 750 MHz

750 MHz

Trade Theory
What is the full form of HDMI?
HDMI &1 Juf =9 a1 82

{M High Digital Multimedia Input

High Digital Multimedia Input
Al

2 Hybrid Digital Multifunction Interface

Hybrid Digital Multifunction Interface

.A3 High Definition Multimedia Interface:

High Definition Multimedia Interface

A4 Hybrid Design Multifunction Interconnect

Hybrid Design Multifunction Interconnect

Val\"V Trade Theory
Which signal is sent'by the SMPS to computer motherboard?

SMPS GRT SR HEIEIS $ B T et Wil o1l 82

Al Device signal

fSarsa &1 g&a

{\2 Peripheral signal

IR Hebel
:A3 Processor signal
URIER Tebdl
fx4 Power good signal
TS UleR Hebd
Trade Theory

What is the full form of ISA?
ISA 1 d BiH AT g2

‘Al Industry System Architecture

Industry System Architecture

2.0

2.0

2.0

2.0

0.00




{\2 Industry Software Architecture
Industry Software Architecture

A3 .

.~ Industry Standard Architecture
Industry Standard Architecture

A4 I .

~ " Institution Standard Architecture

Institution Standard Architecture
Trade Theory

Which device is used to produce hard copy of a document in a computer?
HHER B G &1 §TS BT 1 F oy ford Juahon o1 SuiiT foam S 82
:Al Printer
iR
:A2 Monitor
AR
Modem
Hien
é4 Speaker

paviccony

A3

Trade Theory
What is the function of schottky diode BA 157 in SMPS circuit?

SMPS Ffthe 7 ThIc BT STTS BA 157 BT B T 82

Al Error amplifier

I TAHRR
A2 switclingldiode

i sris
A?’ Voltage regulator

Flees WeeR

‘A4 Fast recovery diode

e Readl sHs

y Trade Theory
What is the advantage of SMPS in a/€omputer?
P | SMPS 1 5] Bal g7

A

! Bulky
el

of High efficiency

3o G&dl

‘A3 High frequency noise low

I IMgRT IR HH
{%4 Servicing of SMPS is easy

SMPS 1 TR S §

Trade Theory
What is the full form of electronic component MOV?

3ATEI M e MOV BT YUl 30 1 82

{M Metal Over Varistor

Metal Over Varistor

.AZ Metal Over Varactor




Metal Over Varactor
:A3 Metal Oxide Varistor

Metal Oxide Varistor
:A4 Metal Oxide Varactor

Metal Oxide Varactor
Trade Theory
1717 What is the full form of CD-ROM in a computer?
FHIE B CD-ROM &1 R0 -1 T 82

,Al Classified Device Read Only Memory
Classified Device Read Only Memory

4A2 Computer Disk Read Only Memory
Computer Disk Read Only Memory

.A3 Connectivity Digital Read Only Memory
Connectivity Digital Read Only Memory

A4 .

~~ " Compact Disk Read Only Memory

Compact Disk Read Only Memory
Trade Theory

18 18 What is the name of the block marked as ‘x” in the microprocessor shown in the figure?

@ # foray U AR AR # <« ¥ fftd it &1 A e

Al AL

ALU
{\2 Memory

AERY

‘A3 Accumulator:

THIAR

{%4 Program counter

U PR
Trade Theory

19 119 Which section is used by the processor to save instructions?

el ) TRoM & o TR gRT i ST 1 IudhT fahan wirdr 82

{M Memory

EEEei Nl
:A2 System unit
R sor
:A3 Graphics card
Tifthe BT

A4 .
. Microprocessor

HISHITRER

2.0

2.0

2.0

0.00




20

21

22

23

24

20

21

22

23

24

Trade Theory

Which an is active first in PC during booting process?

T ufshar & SR Uit H I Ugd I 91 Withd gt 87

Al RAM BIOS

RAM BIOS
A2 emos

CMOS

,A3 ROM BIOS

ROM BIOS

A4 Hard Disk information

TS 3% B TSR

Trade Theory

What is the valid address for configuring a new network interface card for installation?

LT P foIT 7T Aeadh Sy DTS BIHTR B & o 98 UdT 1 82

.Al 378
378
52 2F8
2F8
A3 3pg
3F8
,A4 360
360

Trade The{?y _—-
Which device should not be plugged into a standard UPS? \ )

P 7 fEarsy AF® ups | Wi gl fohar ST =g

,Al Monitor

AR

{%2 Laser Printer

o fliex
53 Inkjet printer
e B

54 External Modem

Trade Theory

Whatis'the main communication method from one PDA to another PDA?

T PDA A IR PDA T TR &1 T dXIhT 187

Al R
IR

A2 ysB

USB
:A3 RS-232
RS-232
:A4 IEEE 1394

IEEE 1394

Trade Theory
What allows the printer to print on both sides of the paper?

TSR B BTG F S R fiic B BT SIARY 3T AT 82

2.0

2.0

2.0

2.0

0.00

0.00




.Al Fuser

TR

52 Duplexer

TERR

A3 Toner cartridge
R PIfce
A4 Paper swapping Unit
YR Wt gfe
Trade Theory
What type of field Replaceable Unit is SCSI host adapter?

SCSI BRE USTR {6y UsR &1 it Reked gfic 82

Al cpy

CPU
{%2 I/O card
/O BTS

.A3 Video card

difsa a1

Ad Hard drive

G
Trade Theory

How many DMA channels are there in an AT-machine?

AT-HRIA # fbdd DMA 31 81d 82

Al
3
A2y
4

A3 4

7
Aty

8

Trade Theory

Which provides the fastest data access time?

P T H ol ST TR JHY TeH Bl 82

A2 RoMm
ROM

A3 cp-ROM

CD-ROM
A

4 Hard Disk

7 5w
Trade Theory

Which component is easiest to environmentally recycle?

TR0 & fRIgTel ¥ I I Uedh IHd B Jad 3T 82

Al Motherboard




29

30

31

32

29

30

31

32

TeREIS
A2 CMOS batteries
cMos et

.A3 Toner cartridge

AR FIfeS
{%4 Cathode Ray Tubes

FAsYgw
Trade Theory

How much information can be stored in a CD (Compact Disk)?

D (Fiiee f&%p) 7 fhaf SeR Gugid & off Yavd! 82

Al 00mb
100Mb

A2 1 50Mb

150Mb

A3 650Mb

650Mb

A% 14Gb

1.4 Gb
Trade Theory

Which software allows the user to browse through the web pages?

B T WUCITR IYTNTBA! Bl I ISl STSW B Bl A el 82

AI Mail client

O FAEe

‘AZ FTP Client

J VIR
:A3 Messenger
AR
fx4 Browser

ST3WR

Trade Theory

How many bytes does-an IP address has?

1P U39 ¥ fbe IigcH BId 82

‘Al Two

&

.AZ Four

IR
A3

- Eight
TS
.A4 Sixteen

Trade Theory

How many logical drives can fit onto a physical disk?

TP Wifde 5% W foran difvred g13d fibe 8 Twd 82

él Four

IR

2.0

2.0

2.0

2.0

0.00




A2 Eight

36
A

3 Sixteen

BIH

{%4 Twenty four

EIEIN

Trade Theory

How many bytes make one megabyte? 2.0

fa S15eH U ATTETSE S §2

{M One Million
ERANIC]

.AZ Ten Thousands

EREENIN

‘A3 One Hundred

LG

.A4 One Thousand

TH TOIR

Trade Theory

What is the name of a computer system that is on the network? 2.0

Feadh IR TG SR RICH &1 TH 16?2

.Al Online

SR

2 Node

TS

,A3 Client

Al

ENIE
.A4 Terminal

EEER

Trade Theory

Which device understands the difference between data and programs?

B i fEarsy ST Tura S 9 ofdk H gt &

2.0

{%1 Input device

ERLCAREIES]
:A2 Output device

3M3cye feargd
:A3 Memory

LNl

A4 .
" Microprocessor

HEHITRT

Trade Theory

What is the address given to a Computer connected to a network? 2.0

Feadh A IS HER B T S aTen TS | g2

Al gysip
SYSID

52 System Address




37

38

39

40

37

38

39

40

Rren ey

{B IP Address

PUSH

{%4 Process ID

EERIE e
Trade Theory

Which storage device can store maximum amount of data?

P T TR fSagd Hfiar AET H ST TR B Jbdl 82

A

! Hard Disk
TS 5w

{\2 Compact Disk
Hiee fowm

:A3 Floppy Disk
T f&s

fx4 Magneto optic Disk

Hifes siftwa fow

Trade Theory

Where does the actual execution of instructions takes place during the processing operations in a computer?

SR § NIRRT SR % RA il &1 ardfde e el giar g2

‘Al Memory

LNl
:A2 Control Unit
AT
:A3 Central Processing Unit
:A4 Arithmetic Logic Unit

sifvuifes e afie

{ Workshop Calculation and Science
What is the value of 14x+3y+25x+2y?
14x +3y+25x+2y BT A T 22

Al 175+ 27y

17x + 27y
:A2 16X+.28y

16x +28y
:A3 39x + 5y
39x + Sy
:A4 44xy

44xy

Workshop Calculation and Science

What is the multiplication value of 5a%b x 8a5b3?
5a%b x 8a°b? BT I[UF HH T §2

Al
77 40a7p*
40a7%
2

40ab2

40a3b?

2.0

2.0

2.0

2.0

0.00

0.00




fu 40a*b’

40a%’
A4

402263

402263

Workshop Calculation and Science

41

41

‘What is the value of x if 13+x =20?
M 13+x =20 TR x PTAA AT R?

Alg
8
A2
7

)

2.0

0.00

Workshop Calculation and Science

4

4

What is the formula for a™x a"?

a™x a" 3 foTg wran @ g
.Al am+n
m+n

A2

am-n
A3

A4

O
N
2

v

&'\
&

2.0

0.00

o\

Workshop Calculation and Science

43

43

Which is the formula for

PHAGR
am

>
NS
X

a'l'l'l—l'l

bl

n
a

aan

A3

a'l'l'l)(l'l

A4
(@™"

(am n

2.0

0.00

Workshop Calculation and Science

44

44

Which is equal to (a™)"?

(@M fFTd SRR |

2.0

0.00




45

46

45

46

A2

+
amin
m+n

A3

am/n

A4

Identify this picture

39 d%R & UgaH

Engineering Drawing

DRAN

CATE
SUBSTRATE

SOURCE O

EDNE2I2TQ0

A

! N-channel MOSFET

N-S9d MOSFET

{\2 P-channel MOSFET

P-Id MOSFET

.A3 NPN transistor

NPN gifoRex

{%4 PNP transistor

PNP Tiforex

Which is the short circuit?

T Tfbe e

Al

|

A2

A3

Engineering Drawing

2.0

2.0

0.00




47

48

49

47

48

49

mli |

A4

Engineering Drawing
Identify the type of resistor.

IRRER & YHR &I U8 |

D\
X

.Al Metal film resistor

A

Ted fher IReR O
o 4

Al

2 Carbon composition resistor \
PTE BT TR

:A3 Potentiometer

reRmHeR

54 Wire wound resistor

AR IS AR
\N Engineering Drawing

What isithe form of curve that represents Ohm's law?

Iep. BT TG T 1 ¢ il 30 s &1 ufafiftia dHrarge

fxl Parabolic
EHCIRGD

:A2 Hyperbolic
ELREIIRED

é?’ Linear
Riccy

f\4 Sinusoidal

[SERISER]

Engineering Drawing
What is the name of the symbol?
el T AT 1 52

2.0

2.0




50

51

50

51

{M Band-pass filter

YU fheex
.AZ Band-stop filter I

‘A3 Low-pass filter

AU fheex

.A4 High-pass filter

BIS-UTY ftheer

Engineering Drawing

Name the symbol. 2.0

T &1 1 9d18T|

Al 1cpp

ICDP

A2 jo1p

ICTP

A3 BpDT

DPDT
A% prpp

DTDP

Employability Skills

Which is the most essential skill to get a job? 2.0

o<l U & foIT gad o fepa i @ 82

:Al Interview Skill
vy fpa

:A2 Translation Skill
TigaRH e

:AS Entrepreneurship Skill

TeROORRM f&pd

0.00

0.00




A4 Learning more language skill

3R 3fie HTT DR T

Employability Skills

For applying a job your first preparation is

Tt & o $M1de H7 & o SMuas! ugent dart Gl

:Al book a ticket to interview place
HETHR VA & I T edhe ga Y
save money for expenses
4! 3 g U8 §Em

3 preparing resume
FSTCT AR HY

4 prepare for interview
ESCARTERINE A

Employability Skills

Campus recruitment is conducted at

P df 7 R BT o g |

! capital city of the state

I BT YT H

A2
ITI
3.

in a company

U o
4

on line

9

TS
__+Employability Skills

In your resume, which information has less importance?

3T TSI & B T AHR] HH He IRl 22

él Qualification
g

:A2 Experience
ST{Hd

:A3 Skill training completed
R GBI URIET

.A4 Expected salary

3UfEd de

Employability Skills

The ability to connect well with people

QT & 1Y e TRE S BT &l 71

! interpersonal skill
EECRERAGE]
.A2 leadership

RISREE

A3 .
.~ time management

FECEECE

4 ..
creativity




56

57

58

59

56

57

58

59

Employability Skills

The ability to wait and stay calm

Ufe A SR Fid @ B & =

1 ..
creativity

fepufefact

problem solving

UTecTH Tifed ™

A2

3 .
patience
o=
4 . .
interpersonal skill
R &bt
Employability Skills

Punctuality means

Y B Ured) o7 3 gl

Al done by punching machine

Ufe =i gy T

A2 informal

3 politeness

RNIELER]

{%4 being on time
HHI R 6 ol
_Employability Skills

When you borrow a pen from your classmate, you shouldssay?

S 31T 3T GEUIS! A hef SYR Td 8, dl 3D eI pel deu?

{M Give me your pen
EER DR CE
A2 .
-7 Can you please give me apen
1 3110 U G Teh U, Feh ¢

A3
.~ I'wantapen

EEREATE Y

{%4 I takewyour pen

T-3TTe5T O AT &
4 Employability Skills
Magnificent, sharp, lengthy, bright, - are examples of

Bfiftrdre, T, vl see, - P IR

‘Al describing words
fseprefan agy
2 action words
TR 389
A3
*~ nouns
34

4
pronouns

PIEIRE

Employability Skills

2.0

2.0

2.0

0.00




60

61

62

63

64

60

61

62

63

64

Table, wire, socket, cable, hammer, nail - are 2.0

9d, dR, Hide, pad, gUle, Bid gl

,Al describing words
fsepfdn oy
2
pronouns

PIEIRE

A3 .
~7 naming words

AT agy
4 action words

LEREERT

Employability Skills
Comma, full stop, question mark are examples of 2.0

P, et €, et T ¥ I | “
:Al design
[ESIEE]

2 next paragraph

AR WRETH

A3 L
-~ formal communication

BiHd BT
4 punctuation mark

e HTeh

Employability Skills
When you start a discussion on a topic, what do you say? 2.0

Sq 317 fopdt fawa R == 3RY R & dl 3170 T Hed 82

.Al Let you start

IS Y& B

4A2 Let me say

q3 P i

A?’ Let us discuss

ST T4l Y

{%4 Let us finish.

313y TH B
_ :? v Employability Skills
While.addressing your boss, you should be 2.0

TS ) R B AT 3HTTDBT ATy |

! Impolite

RHARS

52 Informal

IBIHT

{B Formal

B
{%4 Expressive

TauRE

Employability Skills

You are requested to complete the given assignment by Monday This is an example of 2.0

TR SRIY ] 3 U T &7 &) GHaR d& Y | T8 BT TH ISRV § |

0.00

0.00




65

66

67

68

65

66

67

68

Al . L
- informal communication

SIBIH HRIAHIA
2 a request

& R

A3 an order

TH MR

4 s
formal communication

BiHd HRAHIA

A

Employability Skills

Gestures, facial expressions, eye contact are examples of

SR, RIS TR, 315 Hiede P IIERE |

1 L
verbal communication

A HRIABIA

non-verbal communication

A1-g8d PrRABIA

3 .
oral communication

SRA HRAHIA

4 . .
written communication

e srgfadeH

A2

Employability Skills .

Hi, how are you, whats up, these are examples of

T, 3T HA T, A IA@ 8, T P IIERE |

A

1 .
formal communication

I g

informal communication
s T g

3 . L
polite communication

iarse FRAHRH

4 . . -
impolite communication

TR Y

A2

Employability Skills

Complete these sentence with suitable describing words
The roads ifymy town are in condition.
AT & UG JUiHTES sal A R HY |

Theoads in my town are in condition.

Al good
good
A2 .
.~ expensive
expensive
,A3 beautiful
beautiful
.A4 safe

safe

Employability Skills

Complete the sentence with suitable describing words
There is a garden with lovely flowers.

3fera qoiTes Weal § a1 TR & |

There is a garden with lovely flowers.

2.0

2.0

2.0

2.0

0.00




69

70

71

72

69

70

71

72

.Al good

good
2 .
spacious

spacious
A3 big
big
A% beautiful

beautiful
Employability Skills

Complete the sentence with suitable describing words
There is a playground near our house.

JUgad AU eal | a1 G B |

There is a playground near our house.

1 .
spacious

spacious
A2 big
big
A3 beautiful

beautiful
{%4 good
good
Employability SKills

Complete the sentence with suitable describing words.
There are apartments in my neighbourhood.

JUgad U eal § a1ad GRT B |

There are apartments in my neighbourhood.
Al .
. expensive
expensive
{%2 beautiful
beautiful
,A3 good
good
A4 .
" spacious

spacious

- Employability Skills

Fill-up th; blanks with suitable words so as to become a meaningful sentence.
The Principal called Manoj. The Principal asked to show

Reawit o 3 Teat T W aifes T refep a1y 79 9 |

The Principal called Manoj. The Principal asked to show

.Al him, his

him, his

Al

2 him, her

him, her

A?’ her, his

her, his

‘A4 her, him

her, him
Employability Skills

Fill up the blanks with suitable words so as to become a meaningful sentence
"Tell us about a difficult situation you have and how you

2.0

2.0

2.0

hall ticket for the CTS Examination.

hall ticket for the CTS Examination.

2.0

to come out of it."




73

74

75

73

74

75

o =t & 3 Weat T W aifes U Wi T 79 9 |

"Tell us about a difficult situation you have and how you to come out of it."

A

1
face, manage
face, manage
2
managed, face

managed, face

,A3 faced, manage

faced, manage

A

4 faced, managed

faced, managed

Complete the sentence with suitable describing words
There is a factory in the area. The air is

3fera auiTes Weal | a1 RN |

There is a factory in the area. The air is

,Al polluted

polluted
4A2 boring
boring
A3
.7 uneven
uneven
A4 .
_ " noisy

noisy

Complete the sentence with suitable describing words
There is water scarcity in the locality. The area is

I oIS eal § AT O B |

There is water scarcity in the locality. The area is
1
uneven
uneven
2 .
noisy
noisy
53 dry
dry
{%4 boring

boring

Complete the sentence with suitable describing words

Employability Skills

Employgbility:gkiﬂs

Employability Skills

The transportation to some rural areas is difficult as the roads are

I auiTes Weal § a1 R Y |

The transportation to some rural areas is difficult as the roads are

AL gry
dry
{\2 polluted
polluted
,A3 boring
boring
A4
_ " uneven

uneven

2.0

2.0

0.00

0.00




Electronics Mechanic - 2nd Year - Set 1

S.No. Correct Answer Key
39 A3
40 A1
41 A2
42 A1
43 A2
44 A4
45 A2
46 A1
47 A3
48 A3
49 Al
50 A3
51 A1
52 A3
53 A2
54 A4
55 A1
56 A3
57 A4
58 A2
59 A1
60 A3
61 A4
62 A3
63 A3
64 A4
65 A2
66 A2
67 A1
68 A4
69 A2
70 A4
71 A1
72 A4
73 A1
74 A3
75 A4

S.No. Correct Answer Key
1 A2
2 A2
3 A2
4 A1
5 A3
6 A2
7 A3
8 A4
9 A2
10 A3
11 A4
12 A3
13 A1
14 A4
15 A2
16 A3
17 Ad
18 A3
19 A1

20 A3
21 A4
22 A2
23 A1
24 A2
25 A2
26 A2
27 A1
28 A3
29 A3
30 A4
31 A2
32 A4
33 A1
34 A2
35 Ad
36 A3
37 A1
38 A4
Note:

"In case answers found to be inaccurate due to typographical error or any
other reason please sent mail to gbnimigrievance@gmail.com"
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